F200ULTENTFT T VEFIE

(50mEA EARR] 118148 (0K)
1T’A$EE§I (Tension) 1 mA S (OLVR)
SIEE k3 (FB%RTC) 85 98(5) e Eff (T-Step)
10:50%
2)||EE] FM3T  (T.bonbon) 1 R B=E (OIL\ZEKS)
e FJZE  (T.bonbon) _I LBFE FEF  (OIL\ZEKD)
s X NI (@RATO) J97 84 83 53 Bl BF  @ERTC)
Sl &3 (Tension) o BAEHDOH  EELOTIL)
, WBBKT  coguzmsam L PR 3 (red)
£R RF (@XRTO) . Bx (T3
10:560
s LA B3 (@EARTC) L A B & PBI®HD  (T.bonbon)
nEE B= (BXRTC) FREIDHY)  (Tension)
85 85
g ZNETM  (OINZERED) 5 DEEET (BTG
R BZxE GOINZREKEE) 84 83 P =FZ  (OIVNZEKED
102 50 b
7*’&5@ BB (FB%RTC) ﬂJIIKEEI%’?B% (Xb T\ ZREEKER)
2 F8 (F-L4LTK) _I NgR =g (Ur7-T.0)
g WE =TI (MO _lss g WIIERT  (T08)
Z=h kB (ARU) 81 82 97 itE Bx (TC9)
g EROIL (MTO) | g PE EX (OIL\ZERSD
=HOEH  (MTO) ME B8=E (ARU)
10:560
o B®_EW  (BBIRTS) 86 84 oS 8 (Tension)
fEBHMEY  (SIZE) BN AF (BHERTO)
J—R

1. AR TEE

2. NS-BM

3.4. PH-2R ZMN-WIR

XA S FEFLDEEN 2\ E(38:45/CESL TIZEL .
MBS FEIFZIDEED HD5(F20DRIE TICRUZFTETIIZESL ).




10

M

12

13

—\
~

—
[&)]

IREB & F (Shud)
SHHTHFPFITC)

M JIl B3 & (Tension)
EZ/ ZERN TL7ATH
4 EAZEF (Shud)

= B & 105 (Shud)

WX BIHYF-T.0)
B8 HF HYFT-TO
A8 83 (NBT.G.)
4 B ZEF (NBT.G)
TREEBR (HRPRTS)
0O imE Ma&im)

EH BF (SIize)

WM =F=F (UVLSEA)
2 F B F (T-Step)

F EEB# (NBT.G)
MO =}=3F (EEkEe)
BF 75 F (FZAATH)
T Bt = (F%RRTC)
L & E (B%RTC)

B [E 8 =3 (NNTC)

A 8 52 (NNTC)

A0 F& TLr)
218 A F (ARU)

S8 B8 (TurxArh
dAE EF (Jz3—3-T.C)
BR F &R @BULorri)
Be B85 Bworri)
Wt EBS (EBMLTC)
B %% 3 (AEBTMLTC)

F200ULTER T TV EFIE

(50REA B 118148 (K)
85 J_
L
81
]@5)
85
98(0)
]ﬁ 85
ss[
83 i
]E 82 80
84 I 85 —[
82
e
N
: wf
L
98(4)
L
85 E[
81
86
84 |_
J86 3l
y—p

6 =B ER(OIZER)
SE B5=E (NBT.G)

17 bye

s EEEBT OTZER)
28 g3 (J3—32-T.0)

19 o #® FB (Tension)
ANZAEK T F (T.bonbon)

o =B T (ETO)
WEB FE @XRRTC)

BB o 18 (SIZE)
A BT KOIULZEREEKER)

o M i) 3 (ZONE)
[REB & ZE 5 (NNTC)

s WA B8 E (BRHRTS)
xR BB (ARU)

o4 LN T EBAH (H7BHRTS)
X B F (T-Step)

o5 P W B K (BHRTS)
W &= (ARV)

5 J6 B B = (BWPIBTO)
S M F (BEREG.T.C)

7 lRA B3 (NBT.G)
BdEBESF (NBT.G)

g — L BEF(TEI)
HE KB (HEHRTS)

g PEFAN S (H7BHIRTS)
B OEH (NBT.G)

2 BEZ DR COTVZERE)
MA 75 = K 1D (FB%RTC)

1. IRB-FH 2. R 3.4. 2E-HE WEAFHRE

T E8:45/CES

Le<izsb.




F200ULTEXNTFT DV EFIE

(56m £ ABK])

RS AIBX (Tension)
BHIEES (TE22)

E8 AR ROPRD)
YERS OROPRD)

53
HE

feF (F—LATK)
BB (F—LTK)

AE
RN

MNE (HVF—-T.0)
B3I (HYF-T.0)

RSINEF (PF3ITC)
M EF (Z2ATH)

FWNAEFEK (T£3)
AR Z=mF (FIZIATH)

ERE {5 (XDIL\ZEEKER)
BTAR=/ZIL (ABMLTC)

81

TH9B(”)

E[

N

2
L

_I_ 32 RET
J82 80
84 | 86
98(3)
97
]W 84
y—f

10:50

10

1

12

13

14

1. BSAEE 2. /IS8 3.4 KBEK

XASFEBRDZE D EU\AE8:4bICESL TEE0).
X SFERBANDRIH N BDIAIF20DBIETICEUAEFFTFE TS0

BX &E (FL1ATH)
RXF FF (Shud)

RIBEZE F (ZONE)
P75 #23 (IMC)

[Boa
&l

A F (Tension)
B¥x (JPLE®A)

Bt
B

TS (TUTATH)
2AF Ox—F+.7V)

PRERF (ABMLTC)
s B\BEZS (BEHMLTC)

B = (W09 \ZEKDD)
RF (DTN

B8F (F—LATK)
NI (F—LTK)

B -Be




.

2

3

4

5

ITH #F
PUWAESF

SR B=x
BABRT

5B BF
M EBER

e Ins
BIE=F

B/ EEE
WAR  Dofe

(Scratch)
(FETKEE)

(Scratch)
(M &88)

(T-Step)
(V5> —T.C)

(EAREG.T.C)
(EAEG.T.C)

(U7 —=T.0)
(U7 -=T.0)

1. TB-2U 2. RB-ZEB

FE20@ILTFRFSIEFHE

(BOmLALCDAR] 118148 (K)
86 83
10:50
| 98(4)
J 86 I
84 86
82 |
10:50
98(6) 82
o

3.

s DEEBZ
RE EE

P

-
)

e

M
8 T

g YEW
=

10 28

S5
Yo
EiN

RF
BF

5%

TZRER

4. KRB PEFHW

XA S FERLDEREN 72\ 3E8:45[CEEL TIZEL .

XA S FERLDEEHD HDHIF20DRIEX TICRIZEFITE TIZS0.

SE200LTENNT ZVESFHE

(65U L

SBOEH COTU\ZEEKSD)
BIEENF (PF3ITC)

CDff]

8

p

o

, S U5E (Scratch)
AR = (Scratch)

98(3)

i

118148 (K)

(Tension)
(ERBEG.T.C)

(XOFL\ZREDKED)
(NBT.G.)

(TCS)
(JPILSTD)

(FZAATH)
(UP.Set)

(IMC)
(F—=ATK)

80

L

’ ig

ZiN
ZiN

3 (OIU\ZREIKEL)
pRE Ox—F+.2)

~

\\I

1.

of

—
Bl

=
o))

4 —BEEBFx (REMLTC)
SO FENF (ABMLTC)

XESM20[C&ESsLTIZE0).




